43 Giai phuong trinh khéi

Tén: Ngay thang: Diém:
3 2 _ 3 2 _

x +16x " +7lx+56 =0 x +10x +13x—24=0

X =117 +32x—28=0 X+ 57 —52x—224=0

X+ 8x> —65x— 504 = 0 X —15¢ +54x =0

X =3 —4dx+12=0 X =87 —15x+54=0

£+ +8 =0 X —3x> —70x+ 144 = 0
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43 Giai phuong trinh khéi

Tén: Ngay thang: Diém:
3 2 _ 3 2 _
x +16x " +7lx+56 =0 x +10x +13x—24=0

x=-7,-8,—1 x=-3,-8,1

X =117 +32x—28=0 X+ 57 —52x—224=0

x=227 x=7,—4,-8

X+ 8x> —65x— 504 = 0 X —15¢ +54x =0

x=-9,8—7 x=19,6,0

X =3 —4dx+12=0 X =87 —15x+54=0

x=2,-2.3 x=19,-32

£+ +8 =0 X —3x> —70x+ 144 = 0

x=-8,-1,0 x=-8,9,2
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